

$$1) a) z' = \left(\frac{1}{\tan^{-1} t} \right) \cdot \left(\frac{1}{1+t^2} \right)$$

$$b) u' = \sqrt{2}^{\cos v} \cdot \ln 2 \cdot (-\sin v)$$

$$c) \ln y = \sqrt{x} \ln x; \quad \frac{1}{y} y' = \frac{1}{2\sqrt{x}} \ln x + \frac{\sqrt{x}}{x} = \frac{1}{\sqrt{x}} \left(\frac{\ln x}{2} + 1 \right)$$

$$y' = \left(x^{\sqrt{x}} \right) \left(\frac{1}{\sqrt{x}} \right) \left(\frac{\ln x}{2} + 1 \right)$$

$$2) a) \int x^2 \ln x \, dx = (\ln x) \left(\frac{x^3}{3} \right) - \int \frac{x^3}{3} \frac{1}{x} \, dx = \ln x \left(\frac{x^3}{3} \right) - \frac{1}{3} \int x^2 \, dx$$

$$u = \ln x \quad dv = x^2 \, dx$$

$$du = \frac{1}{x} \, dx \quad v = \frac{x^3}{3}$$

$$= \left[\frac{x^3}{3} \ln x - \frac{1}{9} x^3 + C \right]$$

$$b) \int_0^{\frac{1}{2}} \frac{\sin^{-1} x}{\sqrt{1-x^2}} \, dx = \int_0^{\frac{\pi}{6}} u \, du = \frac{u^2}{2} \Big|_0^{\frac{\pi}{6}} = \frac{1}{2} \left(\frac{\pi}{6} \right)^2 = \frac{\pi^2}{72}$$

$$u = \sin^{-1} x, \quad du = \frac{dx}{\sqrt{1-x^2}}$$

$$x=0 \quad u = \sin^{-1} 0 = 0$$

$$x = \frac{1}{2} \quad u = \sin^{-1} \frac{1}{2} = \frac{\pi}{6}$$

$$3) a) \lim_{x \rightarrow 0} \frac{\sin 4x}{\sin 3x} \stackrel{(LH)}{=} \lim_{x \rightarrow 0} \frac{4 \cos 4x}{3 \cos 3x} = \frac{4}{3}$$

$$b) \lim_{x \rightarrow 0^+} \sqrt{x} \ln x = \lim_{x \rightarrow 0^+} \frac{\ln x}{\frac{1}{\sqrt{x}}} \stackrel{(LH)}{=} \lim_{x \rightarrow 0^+} \frac{\frac{1}{x}}{-\frac{1}{2} x^{-3/2}} = \lim_{x \rightarrow 0} \left(-\frac{1}{2} \right) \frac{x^{3/2}}{x}$$

$$= -\frac{1}{2} \lim_{x \rightarrow 0} \sqrt{x} = 0$$

$$c) \lim_{x \rightarrow 0} \frac{e^x - x - 1}{x^2} \stackrel{(LH)}{=} \lim_{x \rightarrow 0} \frac{e^x - 1}{2x} \stackrel{(LH)}{=} \lim_{x \rightarrow 0} \frac{e^x}{2} = \frac{1}{2}$$

4) a)

$$\lim_{x \rightarrow 0} \frac{1}{x^3} \int_0^x \sin t^2 dt = \lim_{x \rightarrow 0} \frac{\int_0^x \sin t^2 dt}{x^3} \stackrel{\text{L'H}}{=} \lim_{x \rightarrow 0} \frac{\sin x^2}{3x^2} \quad \text{Let } u = x^2$$

$$\left(\frac{0}{0}\right) = \frac{1}{3} \lim_{u \rightarrow 0} \frac{\sin u}{u} = \boxed{\frac{1}{3}}$$

b)

$$f'(x) = \frac{1}{1+x^2} + \frac{1}{1+(\frac{1}{x})^2} \left(-\frac{1}{x^2}\right) = \frac{1}{1+x^2} - \frac{1}{x^2+1} = 0$$

$$\therefore f(x) = C, \text{ Constant}$$

when $x=1$, $\tan^{-1} 1 = \pi/4$, $\tan^{-1}(\frac{1}{1}) = \tan^{-1}(1) = \pi/4$

$$\therefore C = f(1) = \tan^{-1}(1) + \tan^{-1}(\frac{1}{1}) = \frac{\pi}{4} + \frac{\pi}{4} = \boxed{\pi/2}$$